A

A H
Lo Fh
= &5 5

4%
£ 5 A
FE M@ AE (Bad)
B 15 HI IR 4T 4 (B3R

FREHE(BR)

H H H > #

il & R =

%T

«fM 5 & 12 A 71 AH FHI9EF405
RAHTRIBART2ME 2012E=

#-60
FroZinnBUIERGETSE
ItEZELIAET {F/ 1L #A

7,906,800 F  A#Eresifis (k) 7,188,000 M
7,205,000 FH  A#Eresddisg (Bik) 6, 550,000 M
7,205,000 H #E&£4E (Hik) 6, 550,000 M

XEA AW #E & #
BEZRAFREA 6, 550, 000| (< L) %&#LiR%E
HASHEAHE 6, 550, 000| (<L)
HrAs=A 6, 550, 000| (<L)

NI TEEHRASH 6, 550, 000| (<L)
EESHEHA=H 6, 550, 000 <L)
HASHIEAHE 6, 550, 000| (<L)
HASHITBER 6, 550, 000| (<L)
A=A 1,100, 000

EFEAFLEEICI00DI0ICHHL T S8 ZME L -SRI 25 EHHA L
DHAHCIRDHMEETH D




